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< Question 1> - ’ . . -
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(F1) ) (F32) A
(73] I (F34) Uy
There are some countries that have low food self-sufficiency rates. If they
(RS) — produce cultivated meat and the people in those countries eat it, they won’t
i
_ have to depend on other countries very much. (33 words)
(A6) 7+ pal
[R91) A (Ri2)
{f93) I (F4)
Although ...

(f35]

—— both designs are intended for a good environment, they will have negative
influences on the users. (16 words)

(f16]

)

(7]

4

— I think our class should do the musical. The survey shows that many students want
to work together as a class. To do so, everyone should have something to do. The
musical includes many characters and we need many students to prepare the clothes.
. We will be a better class by creating a good musical together. (56 words)
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